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Section A : Choose the correct answer from the given options.

(1x 5=5)
1) Which of the followings has non-terminating non-recurring decimal expansion?
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2) In fig. 41 the value of x s [A 0" Bso’ s’ b, sn]
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Lm&n are three lines in a plane such that [Lmand nimThen [ & nare

Ex Perpendicular lines B Parallel lines

Intersecting lincs

D. None o!‘\hc&«]
Section B (2x3=6)
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6) Infig. #2, 08 stands on a line POQ. If OR and OT are bisectors

of £ QOS and £ POS respectievly, find the measure of ZROT
atb b brc ¢ cta

7) Show that (L»” ) x (:T) x (‘\T =1

8) Fidif YT = W2 HVI3-2

s
Section C (3x2=6)

o
9) Infig.#3,AB || CD.If LAPR=140 and £PRQ=85
Find £ RQD
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SectionD (4x2=8)

10)  Write two rational numbers and two irrational numbers in between

11) Theside BCof A ABC is produced to a point D.If the

bisectors of £ ABC and £ ACD mect ata point F, then
prove that 2 BAC =2 £ BEC  (fig #4)

247 2- 2 2 fig #4)
12) 1fx= % andy uig find the valus of X - xy +y (55
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al3  find the value of a





